
 

 

 
 

 
 
 
 



EX 1  
Taper ce code et dire ce que fait le programme  
 
M = 2 
N = 2 
  
A = [[0 for i in range(N)] for j in range(M)] 
B = [[0 for i in range(N)] for j in range(M)] 
C = [[0 for i in range(N)] for j in range(M)] 
  
for i in range(M): 
    for j in range(N): 
        A[i][j] = int(input("Saisir l'élement A[{0}][{1}] : ".format(i, j))) 
  
for i in range(M): 
    for j in range(N): 
        B[i][j] = int(input("Saisir l'élement B[{0}][{1}] : ".format(i, j))) 
  
for i in range(M): 
    for j in range(N): 
        C[i][j] = A[i][j]+B[i][j] 
 
for i in range(M): 
    for j in range(N): 
        print(C[i][j], end=" , ") 
    print("") 
 
 
EXERCICE 2 
 
M = 2 
N = 2 
 
A = [[0 for i in range(N)] for j in range(M)] 
C = [[0 for i in range(N)] for j in range(M)] 
  
num = int(input("Saisir un scalaire : ")) 
  
for i in range(M): 
    for j in range(N): 
        A[i][j] = int(input("Saisir l'élement A[{0}][{1}] : ".format(i, j))) 
  
for i in range(M): 
    for j in range(N): 
        C[i][j] = num*A[i][j] 
  
for i in range(M): 
    for j in range(N): 
        print(C[i][j], end=" , ") 
    print("") 
 


